١

\$ 59.1 Summary : Let K be a hield, n >1 and set R = K[x1,...,xn]  $\cdot \underline{X}^{\underline{k}} = X_1^{\underline{k}_1} \cdots X_n^{\underline{k}_n} \qquad \underline{A} = (a_1, a_2, \dots, a_n) \in (\mathbb{Z}_{\geq 0})^n$  $f = \sum_{\underline{\alpha} \in \mathbb{Z}_{p_{\alpha}}^{n}} C(\underline{\alpha}) \times^{\underline{\alpha}} \quad \text{a typical polynomial in } \mathbb{R}$  $\cdot \leq = a$  monomial order ( is total order on  $\{ x^{\frac{d}{2}} : \underline{x} \in \mathbb{Z}_{>0}^{n} \}$  st  $\cdot \underbrace{\times^{\underline{d}} \leq \underbrace{\times^{\underline{B}}}_{z \leq z} \implies \underbrace{\times^{\underline{d} + \underline{b}}}_{z \leq z \leq \underline{b} + \underline{b}} \leq \underbrace{\times^{\underline{B} + \underline{b}}}_{z \geq z} \forall \underline{t} \in \partial_{z \geq z}$ •  $\leq$  is a well order (  $\Leftrightarrow 1 \leq x^{\frac{d}{2}} \quad \forall \underline{a}$  ) Ey:  $\leq = \leq_{ux}$  with  $K_1 > \chi_2 > \cdots > \chi_n$ . . Multivariate Division Algorithm: Fixed data: G= 181,..., Sm & CR ast, < Input : FER Output: g1,..., fm ER, rER st h= q18,+...+qmgm+r where . r=0 7 r≠0 4 no nominal of r is divisible by any LT(g;). · Vi LT(F) ≥ LT(figi) whenever figi≠0 (Ux LT (s,),..., LT (gm) to do the division) . G = 1 g ...., g m { is a G abbuen basis of I (wrt <) if, and mly ih, Simple I and  $LT_{i}(I) = (LT(S_{i}), \dots, LT(S_{m}))$ (LT(F), FEL)Facts about GB:

Q1: How to build a GB? Q2: How to test if a finite set is a GB without computing LT(I)? <u>A</u>: Buchberger's Algorithm! \$59.2 Buchberger's Theorem .

Notation: • given  $G = \{8_1, \dots, 8_m\} \subseteq \mathbb{R}$ , we will write  $F \equiv 0$  mod G if the multivation division algorithm outputs unainder  $r \equiv 0$ .

· given f, fz E R, we let H be the monic least common multiple of LT(F,) and LT (F2). More precisely : • If  $LT(F) = x^{\frac{1}{2}}$  then  $L(F) = c_{(x)} x^{\frac{1}{2}}$   $c_{(x)} = coefficient of x^{\frac{1}{2}}$  in F. Definition: Given F, Fz ER 308, the S-polynomial between h, and be is  $S(F_1,F_2) = \frac{M}{L(F_1)} F_1 - \frac{M}{L(F_2)} F_2$ Note: The construction produces a polynomial that is either 0 or whose LT is < M. Theorem (Buchberger) Let I = (81,..., 8m) CR be are ideal. Then : G= fg1,..., gm { is a Gaöbrer Lasis of I Yi, j: S(g1,g;)=0 modG. Before we discuss the proof, let us look at an example : Example: R=K[x,y], <= lexicographic zder with x>y.  $I = (f_1, f_2) \qquad \text{where} \quad f_1 = \frac{\chi^3}{2} - \chi \chi^2 + 1$ ( we underline the leading terms )  $f_2 = \frac{\chi^2 y^2}{2} - y^3 - 1$  $G_{0} = 5F_{1}, F_{2}$   $M = x_{1}^{3}y_{2}^{2}$  $S(F_1,F_2) = \frac{x_1^3 y^2}{x_2^5 y} F_1 - \frac{x_1^5 y^2}{x_2^5 y^2} F_2 = y F_1 - x F_2 = y + x \equiv x + y \text{ und } G_1$ => { f1, f2 is not a GB by Buchbergen's Theorem.

We need to prove both implications of Buchbergen's hitraion. We will need the following technical result that will be used for (=>) Lemma: Assume  $f_{1,...,}$  the  $K[X_{1,...,}X_{n}]$  are non-zero polynomials with the same Leading monomial and pick  $a_{1,...,}a_{m} \in K$  st  $h = a_{1}f_{1} + \cdots + a_{m}f_{m}$  has  $LT(h) < LT(f_{i})$ . Then,  $\exists b_{2},...,b_{m} \in K$  st  $h = \sum_{i=2}^{m} b_{i} S(f_{i-1},f_{i})$ .

Bash: Let 
$$\underline{a} \in \mathbb{Z}_{\geq 0}$$
 and  $c_1, ..., c_m \in K$  st  $LT(F_i) = c_i \times^{\underline{a}}$   $\forall i$   
While  $F_i = c_i F_i'$  where  $c_i \in K$ ,  $F_i'$  is marie with  $LT(F_i') = X^{\underline{a}}$ .  
Then  $h = \sum_{i=1}^{m} a_i c_i F_i' = a_1 c_1 (F_1' - F_2') + (a_i c_1 + a_2 c_2) (F_2' - F_3') + \cdots$   
 $\dots + (a_1 c_1 + a_2 c_2 + \cdots + a_{m-1} c_{m-1}) (F_{m-1}' - F_m') + (a_i c_1 + \cdots + a_m c_m) F_m'$ .  
By construction,  $S(F_{i-1}, F_i') = \frac{1}{c_{i-1}} F_{i-1} - \frac{1}{c_i} F_i = F_{i-1}' - F_i'$ .  
Since  $h$  & all  $(F_{i-1}' - F_i')$  have  $LT < X^{a_i}$  we must have  $a_1 c_1 + \cdots + a_m c_m > 0$   
because the only time an (RHS) with a maniful  $X^{a_i}$  is  $(a_1 c_1 + \cdots + a_m c_m) F_m'$ .  
Initing  $b_i = \sum_{i=1}^{j-1} a_i c_i$   $\forall j = z, \dots, m$  we get  $h = \sum_{j=2}^{m} b_j S(F_{j-1}, F_j)$  as we writed.

## Proof of Buchberger's Theorem :

(=>) Vi.j: S(gi,gj) ∈I. So the Membership Test ensures S(gi, gj) =0 melG. (<) To show G is a GB we must an him LT(I) = (LT(S1),..., LT(Sm)) Pick any FEI-30%. Since I= (g1,..., gm), we can find h1,..., hmER with f = Ž higi The presentation is not unique. Choose one where max {LT(higi): higi ≠0} is minimal the max will not be taken over an empty-set). By construction  $LT(F) \leq X^{\underline{\alpha}}$ Our good: Show  $LT(F) = X^{d}$  (=> we get  $X^{d} \in (CT(g_1), ..., LT(g_m))$ ) Write A:= >i : LT(hisi)= X~} Up to relabiling, we assume A = }1,...,s} We that 2 cases : CASE 1: Assume  $LT(F) = x^{\alpha}$ . This means  $LT\left(\sum_{i=1}^{S} LT(h_i)g_i\right) = c x^{\alpha}$  for some c, so no concultation of hading terms occurs. In particular,  $LT(F) = \sum_{i=1}^{n} LT(h_i) LT(g_i) \in (LT(g_i), ..., LT(g_n))$  CASE 2 : Assume  $LT(F) < x^{\alpha}$ .

We write 
$$f = \sum_{i}^{i} h_{i} s_{i} + \sum_{i}^{i} h_{i} s_{i}$$
  
 $LT(h_{i}s_{i}) = X^{d}$ 
 $LT(h_{i}s_{i}) = X^{d}$ 
 $iT(h_{i}s_{i}) = X^{d}$ 
 $iT(h_{i}s_{i}) = X^{d}$ 
 $LT(h_{i}s_{i}) = X^{d}$ 
 $LT(h_{i}s_{i}) = X^{d}$ 
 $iT(h_{i}s_{i}) = X^{d}$ 
 $iT(h_{i$ 

Then, by construction, the nonumial  $X^{\prime\prime}$  must not be present a the (RHS) of (AS). This means that it has to be concelled using may terms in the first summand. In particular  $\exists i \neq j$  with LT(higi) and LT(hjgj) expres with  $X^{\prime\prime}$  up to a constant Waite  $LT(h_r) = a_r \underline{X}^{R^{(r)}}$  where  $a_r \in K$  for r = 1, ..., s

• Our objective is to rewrite the first summend to be of the form  $\sum_{r=1}^{n} h' g_r$  with  $LT(h'_r g_r) < x^{\alpha}$ . This will say our choice of  $x^{\alpha}$  was not minimal, hading to a entradiction, and thus widing CASE 2.

Note 
$$LT(x^{n(r_1)})$$
 and  $LT(x^{n(r_2)}_{g_r})$  agree with  $x^{n'}$  up to a multiplicative constant  
By Lemma \$59.2 applied to  $\sum_{r=1}^{5} a_r(\underline{x}^{n(r)}s_r)$ , we can musile this term as  
 $\sum_{lT(h_r)_r} L(h_r) S_r = \sum_{r=2}^{5} b_r S(x^{n(r_1)}) (***)$   
 $LT(h_r)_r) = x^{n'}$   $S(x^{n(r_1)}) = \sum_{r=2}^{5} s_r^{n'}s_r^{n'}) (***)$   
 $\frac{Uaim_r}{Sr} S(x^{n(r_1)}) = \sum_{j=1}^{5} s_j^{n'}s_j^{n'}$  with  $LT(s_j^{n'}s_j) < x^{n'}$ .  
 $S(x^{n(r_1)}) = b_r the maxic least common multiple of  $LT(s_{r-1}) \notin LT(s_r)$ .  
Then :  $x^{n-r_1,r} S(s_{r-1}, s_r) = S(x^{n(r_1)}) = S(x^{n(r_1)})$  be cause$ 

$$x^{\alpha - \beta - r_{1}, r} S(g_{r_{1}, g_{r}}) = x^{\alpha - \beta - r_{1}, r} \left( \frac{\chi^{\beta - r_{1}, r}}{L(g_{r_{1}})} g_{r_{1}} - \frac{\chi^{\alpha}}{L(g_{r_{1}})} g_{r} \right) = \frac{\chi^{\alpha} - \beta - r_{1}, r}{L(g_{r})} \left( \chi^{\alpha} \frac{g_{r_{1}}}{g_{r_{1}}} - \frac{\chi^{\alpha}}{L(g_{r})} g_{r} \right) = \frac{\chi^{\alpha} - \beta - r_{1}, r}{L(g_{r})} \left( \chi^{\alpha} \frac{g_{r}}{g_{r}} - \frac{\chi^{\alpha}}{L(g_{r})} g_{r} \right) = \frac{\chi^{\alpha}}{L(g_{r})} \left( \chi^{\alpha} \frac{g_{r}}{g_{r}} - \frac{\chi^{\alpha}}{L(g_{r})} g_{r} \right) = \frac{\chi^{\alpha}}{L(g_{r})} \left( \chi^{\alpha} \frac{g_{r}}{g_{r}} - \frac{\chi^{\alpha}}{L(g_{r})} g_{r} \right) = \frac{\chi^{\alpha}}{L(g_{r})} \left( \chi^{\alpha} \frac{g_{r}}{g_{r}} - \frac{\chi^{\alpha}}{L(g_{r})} g_{r} \right) = \frac{\chi^{\alpha}}{L(g_{r})} \left( \chi^{\alpha} \frac{g_{r}}{g_{r}} - \frac{\chi^{\alpha}}{L(g_{r})} g_{r} \right) = \frac{\chi^{\alpha}}{L(g_{r})} \left( \chi^{\alpha} \frac{g_{r}}{g_{r}} - \frac{\chi^{\alpha}}{L(g_{r})} g_{r} \right) = \frac{\chi^{\alpha}}{L(g_{r})} \left( \chi^{\alpha} \frac{g_{r}}{g_{r}} - \frac{\chi^{\alpha}}{L(g_{r})} g_{r} \right) = \frac{\chi^{\alpha}}{L(g_{r})} \left( \chi^{\alpha} \frac{g_{r}}{g_{r}} - \frac{\chi^{\alpha}}{L(g_{r})} g_{r} \right) = \frac{\chi^{\alpha}}{L(g_{r})} \left( \chi^{\alpha} \frac{g_{r}}{g_{r}} - \frac{\chi^{\alpha}}{L(g_{r})} g_{r} \right) = \frac{\chi^{\alpha}}{L(g_{r})} \left( \chi^{\alpha} \frac{g_{r}}{g_{r}} - \frac{\chi^{\alpha}}{L(g_{r})} g_{r} \right) = \frac{\chi^{\alpha}}{L(g_{r})} \left( \chi^{\alpha} \frac{g_{r}}{g_{r}} - \frac{\chi^{\alpha}}{L(g_{r})} g_{r} \right)$$

$$= S\left(x^{\beta_{1}(r_{1})}, x^{\beta_{1}(r_{2})}\right) = because \quad x^{\alpha} = maxic lem \left(LT\left(x^{\alpha_{1}(r_{1})}\right), LT\left(x^{\beta_{1}(r_{2})}\right)\right)$$

$$B_{3} \text{ definition }, \quad LT\left(S\left(s_{r-1}, s_{r}\right)\right) < x^{\beta_{r-1}, r} \quad so \quad LT\left(x^{\alpha_{r-1}, r}S\left(s_{r-1}, s_{r}\right)\right) < x^{\alpha}$$

$$Since \quad S\left(s_{r-1}, s_{r}\right) = 0 \quad mad \quad G \quad by \quad assumption, \quad be can find \quad g_{1}^{(r_{2})}, \dots, s_{m}^{(r_{3})} \in \mathbb{R}$$

$$such \quad that \quad S\left(s_{r-1}, s_{r}\right) = \sum_{j=1}^{\infty} g_{j}^{(r)} g_{j}, \quad ad \quad LT\left(g_{j}^{(r)} g_{j}^{(r)}\right) \leq LT\left(S\left(g_{r-1}, s_{r}\right)\right) < x^{\beta_{r-1}, r}$$

$$Thus, \quad S\left(x^{\beta_{r-1}}, x^{\beta_{r-1}}, x^{\beta_{r}(r)}\right) = \sum_{j=1}^{m} \left(x^{\alpha_{r}-\beta_{r-1}, r}\right)g_{j}^{(r)} g_{j}, \quad with \quad LT\left(\tilde{g}_{j}^{(r)} g_{j}\right) < x^{\alpha} \quad tr_{j}$$

$$= \tilde{f}_{j}^{(r)}$$

As a consequence of the claim and (\*\*\*), the (RHS) of (\*) can be rewritten as Zhisi where LT(h'; ji) < x<sup>d</sup> + i with higi =0. Contradiction!

Since we have  $LT(F) \in (LT(g_1), ..., LT(g_m))$   $\forall F \in I \cdot 30\%$ , we get

$$LT(I) = (LT(I), ..., LT(S_m)) \subseteq LT(I)$$

so equality holds, as we wanted.